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XEFE—TE—TIIRZS. This is a text in the first frame. This is a text
in the first frame. This is a text in the first frame.
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XEF _PHE—IHIRNE. XEBEFERT \pause,
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XRE_TE—THINS. XEFERT \pause, This is a text in the
second frame. This is a text in the second frame. This is a text in the
second frame.

EER= , (FERF (B— R HFT/N 8N X2 PPT #5ER 2019 £F 12 B 26 H 4/5



LBITAAYERER 3 : Two-column slide

This is a text in first column.

E=mc This text will be in the second
column and on a second tought this

is a nice looking layout in some cases.
o First item

@ Second item
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